@M%klﬁ%muﬁﬂ%iﬁi%ﬁ%%ﬁ&%
(%Y 150 4y, A ER—REESBE L)
EAE: 0701 2
FIARIH: 808 RAies A %
R 3 et

GRE A% WHEREESEE L)
— HE (HE 54, £304)

0 0 1Y®(1 2 3)0 1 oV
1. HRERE| 0 1 0 450100
1 00 (7 89)lo0 01

2. CRARZNIERE, A AWATHIR|4=3, W24 -347|=

)

3. BHEMTIRE A, BIH R B AB=4B+ 4B, BB= % » M A=

%

4. LHER EAIK RS R &, F’ﬂ%ﬂ%)‘{j’a(a,ﬂ)zsxlyl+2x2y2+x3y3, H o
Eelhien) « F2Oirpd, Bk MEa=(0,1,3 5
& £=(2,-1, k) Ex.

5 E%ﬂ%ﬁﬁﬁ_}:%:—:ﬁ:?ﬁﬂf@,tz,g): 7467 1+ 2ans, + 200 TESE, NS
a K BUE G B A

6. IR f(x) = 4x* 75" - 51 {1 B4R 24 .3

e E‘%ﬂzﬁﬁ%%?ﬁté&ﬁﬁﬁzﬁéﬁﬁﬁﬁﬁﬁﬂﬁﬁ% L, HEAMREE X, X,, X, ¥

RX +X,=(1,23), X+ X,=00-1,2), X +X,=q,0-1, RiZIEF RN
TR B AR, FERM— MR ER R AR, (20 43

FHEAHR: 808 B oM A % (B 1 W, 3 2 70




= BHARA .0, 0 R ELE, RiE- Hn=2023Mn=2024 0, [EH

a'[+a2,afz+a'3,---,a,,_,+a'n,a,,+aqﬁ}5ﬂﬁﬁﬁﬂﬁ9®ﬁ]£%ﬁiﬂ9éﬁgo
(15 43)
. Ba.a,a,a BREME Y f—H%, TRV Bk, B

I(a)=5a~a, -a,
Ney)=-2a,+a,-a,
&) =a +a,-2a, =~
T(a;) = a -2a, +3a, +a,

RT BTV ) QA —R2E, T 887 0) IR — 3, (15 4)
T BARYIR P L n BT GERE, FERR P EMEBRR f(x) #75
A= 1L, (1S4
Ny Bd=(a),,, Kba, (,j=1-n) BEES, HXG—Ai=1-.n, #H
i]ay=2024, UERT 2024 B |4 . (10 43)

s B%ﬁlnﬁfﬁ]ﬁa=(m, 0,-,0,m", A:E—aaf,BzE-k—l-aaT (EANBASE
m
%): EABL'E: i%ﬁMD (155})

N RE- (30 40
Bd=(a)eC™ (HAhCREHHE) HIEIEMEG e Cm {115
GA=E, (K AG=E ),
WIFR G & A W74 RE (oA 4 pE ). AL WRERER 4 GHMER 4.
R AFRWSERE (AR, JUFR A RAETTE (BT gy,

1 -2
meé\A=[0 1}, FIGT AR A RBIEE . B, R B
0 0

VBB d. FUTIERA 5 40, KRR IE, 15 5 55/, A Rt
HEUAFTE 47 B0 A i 2o At e, FRH—MIFE S5 4. WA LIRS 30 e

FrEAH: 808 MEMMAL (2 W, 32 m)




